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1
Decision/action requested

To agree the recommendation from the LTE ad hoc to introduce the proposal in the TR 32.816.
2
References

S5A070014 Vendor specific data in Trace Depth
S5-071181 Minutes of SA5 ad hoc on LTE OAM.
3
Rationale

To allow for tracing possibilities of vendor specific information.
4
Detailed proposal

Justification:

A fault can be due to node internal (vendor specific) decision, why it is beneficial to trace vendor specific data as well. To allow for this we need to have the possibility to add vendor specific data to the Equipment trace for LTE. This requires 3 new depth levels.
Requirements:

To extend the Trace Depth parameter from 3 to 6 values.

These values would now be:

	Trace Depth
	Meaning

	Minimum
	Recording of some IEs in the signalling messages plus any vendor specific extensions to this definition, in decoded format. 

	Medium
	Recording of some IEs in the signalling messages together with the radio measurement IEs plus any vendor specific extensions to this definition, in decoded format. 

	Maximum
	Recording entire signalling messages plus any vendor specific extensions to this definition, in encoded format. 

	Minimum + Vendor specific data
	Recording of some IEs in the signalling messages plus any vendor specific extensions to this definition, in decoded format + Vendor specific data. 

	Medium+ Vendor specific data
	Recording of some IEs in the signalling messages together with the radio measurement IEs plus any vendor specific extensions to this definition, in decoded format + Vendor specific data. 

	Maximum+ Vendor specific data
	Recording entire signalling messages plus any vendor specific extensions to this definition, in encoded format + Vendor specific data. 


The proposal would be to change this from the 3 values (2 bits) to 8 values (3 bits) leaving the last 2 values spare.

